Srategia wysokopeziomowa

=2 | EEEEE
[ L] 1]

EEEs
EEER
L L[] []

E=EgEn

Gspiac:


https://docs.google.com/spreadsheets/d/1QeQ2QVZcgMNStZqGPAZy6yPS1jFBFszl/edit?gid=129726613#gid=129726613
https://docs.google.com/spreadsheets/d/1C6z6FZdV98Z-LQIPLjQQ3qu9LYftrbitKdQ-ucu1uhU/edit?gid=0#gid=0
https://drive.google.com/drive/u/0/folders/1hH0PTHe6OcBhs3lwwnyl8xBnh_PI8FI7
https://docs.google.com/spreadsheets/d/1juYQQYCf-1_111JMfiglH-R0VNa5OuTK/edit?gid=1634036053#gid=1634036053
https://docs.google.com/document/d/1n9DZS2AAtNE4VAmMAjAR8xdb4GOkIyWpxmUn5d7JNEw/edit?tab=t.0
https://docs.google.com/forms/d/1KS8JFB83wUxKPGuC4O877zIDsiMdbYrOaI5PEb8LJ7c/edit?ts=6880a8de#responses

